CunHyC, KOCUHYC U TaHIeHC
yrna

« O u A xoossm emecme»

BeinonHuna: AkbytnHa A.M.



0)

II
sin ZA=— £
I'NUII

IIDU
COoS ZA=——— :
I'UII

tg LA=—2

npu

ctg LA=——

po

. a
, TO SIn LA:Z

, TO CcOoS ZA =—

TO tgLA=E
b
, TO ctg LA =L



o

. a
sin ZA=cos /B=—

| S O

cos / A=siIn LB=C
a

tg £ A=ctg LB=;



3agada 1

NaHo: A ABC, 2C=90°, AC=15,

5
cos A =-
7

Hantu: AB

PeweHue:

AB=7%*3=21

OTBeT:
21



30

3agada 2

HNaHo: AABC, 2C=90°, AC=9, cos zA =0,3
Hautu: AB

PeweHue:
3 _TipH

cos £A=0,3=—=

B 10 run

AB=10*3=30

OTBeT:
30



3agaya 3

NaHo: A ABC, £C=90°, BC=8, sin ZA=0,4
20 Hautu: AB

10 PeweHue:
4 \ 2
. ) 3 sin A=0,4
Sin A= ll
0O run
AB=10*2=20
OTBEeT:

20



3agada 4

NaHo: A ABC, £C=90°, AC=4,tg £A=0,5
Hantu: BC

PeweHue:




3agada 5

HaHo: A ABC, £C=90°, AC=20,
tg £LA=0,75
Hantun: BC

PelwueHue:
C 15 B tg 2A=0,75




3agada 6
NaHo: a ABC, £C=90°, AC= 20
tg £A=1,5
Hantun: BC
PeweHune;

2 T1pH

BC=3*10=30

OTBeT:
AN



A 3agada 7
NaHo: a ABC, £C=90°, sin £A=0,8
Hantu: sin £B

6 10
PeweHwue: NepBbin cnocob
- sin £A=cos B =0,8
C B sin2 ZA+ cos2A =1
BTopowu Sin 2B =1 — cos’*B = +/1 — 0,82
gpepgme | ik
ledem=e Sin £B =+/1 — 0,64 = /0,36
Sin £B=— Sin ~B=0,6
Sin £B=0,6 | OTBeT:

N A



3agada 8

A NaHo: A ABC, £C=90°, sin £A=0,28
Hantu:sin £ B
o6 100 PfemeHme:
sin £A=0,28
28 :
Sin A= = — = 2°
B 100 25 TUI

7 24 25

28 | 96 | 100
. I[Ipo 24 24x4 96
SmLB=L——— ==

== =""==10,96
TUII 25 25x4 100

OTBeT:

R — Y




3agada 9
NaHo: A ABC, £C=90°,a=12,c=13

Hantu: tg £ZA
13 PeweHue:

tg £LA= -

npu

5 12 13

tg LA= = = = 2,4

pu
OTBeT:
2,4



3agada 10
A NaHo: A ABC, £C=90°, AC=4,8

Sin A =

25
Hantun: AB

PeweHwne:

C B SinA=H—p0

I'nII

24 25

7
24-4 8=5
AB=25-5=5

OTBeT:



